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SA R0
B =0 A Usl
Hel: stteRsSEds (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 1,252,800 1,387,200 134,400
= 1,044,000
== 104,400
Al 104,400
02 QI XH2AILEE (01X THE) 1,252,800 1,387,200 A134,400
OsdtE AXIKSHE XEAI
2,088,000, 000 *6(0% 1,252,800
= 1,044,000
== 104,400
Al 104,400
siE SSE6H XA (KHH) 150,000 150,000 0
307 lztol & 150,000 150,000
02 2IZHB A E & 150,000 150,000
Ostte SSE0 UK (PR3 4YI)
300,000,000& *141%50% 150,000
stte SRSE3 NG (HEALY) 102,865 247,317 N144,452
=S 73,475
Al 29,390
402 2I2F X201 & 102,865 247,317 A144,452
== 73,475
Al 29,390
02 QI TH2AILEE (01X THE) 102,865 247,317 A144,452
Ostts ]S85 NS
146,950,000 *7(% 102,865
= 73,475
Al 29,390
St SSHY NEMH SSA(E2X) (D) 100,440 121,800 121,360
= 83,700
Al 16,740
307 @120l & 100,440 121,800 A21,360
== 83,700
Al 16,740
02 LB HAHE L 100,440 121,800 221,360
Ostts SSHY XA =HSAH
167,400,000 *60% 100,440
= 83,700
Al 16,740
st 2] K& 420,000 420,000 0
307 el2to| & 420,000 420,000
02 2B YA R E A 420,000 420,000
Osotd?gsI)t sttt =R/l A&
240,000,000 * 141 %50% 120,000
OSEIE &0 ss=78 X2
600,000,000 141 %50% 300,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
SENE SEUHSNIE (s4E 435 JERSAY) 480,000 372,000 108,000
(HEA)
= 400,000
Al 80,000
402 I2FX=01 & 480,000 372,000 108,000
= 400,000
Al 80,000
02 RIENZASEZ(0IETHR) 480,000 372,000 108,000
Ostts 4335 JIg=Ag
1,000,000, 000 *487% 480,000
[ 400,000
Al 80,000
ZEIZC XZAL(EX)(HEAY) 41,200 21,000 20,200
= 25,000
Al 16,200
307 elzto| & 28,000 21,000 7,000
= 14,000
Al 14,000
02 QB EANEEX 28,000 21,000 7,000
OZZEC XY Mo - AH WFEs
At 28,000
[ 14,000
Al 14,000
402 QI2F X201 & 13,200 0 13,200
= 11,000
Al 2,200
02 QI X2 AL E (01X THE) 13,200 0 13,200
O2ZEEE ARE HILGRA NFAY 13,200
= 11,000
Al 2,200
ZEEE TZAMS(EX) 13,986 15,120 A1,134
[ 5,994
Al 7,992
307 elztol & 13,986 15,120 AT1,134
== 5,994
Al 7,992
02 2B YA E X 13,986 15,120 A1,134
Osas stte HdEXE 13,986
= 5,994
Al 7,992
Fostts oAy KA 48,200 40,200 8,000
== 14,460
Al 33,740
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 1,200 1,200 0
= 360
Al 840
01 At2teltl 1,200 1,200 0
O AL =Xl2t2ll 1,200
= 360
Al 840
301 EtE NS 47,000 39,000 8,000
< 14,100
Al 32,900
14 JIEt2 8= 47,000 39,000 8,000
O=FgsttE JiHetd X2 A 47,000
== 14,100
Al 32,900
SS4E BiHE 2¢el 23,420 23,420
201 Zet=Ehl 3,420 3,420
01 AtR2t2lHI 3,420 3,420
Og2Al S JAHHE E2=22 7 3,000
SE2E HIE3SF 3002 *5,8000H 1,740
228 s 55,0002 64! 330
CEBEE IS 45,0003 %24 0
. E2RS s s
45,0003 65 *24 540
JHEEA OIEH 5,00021+60H 300
OEEAl SUZ JANBHY 2922 &
S=g 70,0003 x3E *22] 420
401 Al HIZ 2018 20,000 20,000
01 Al&H| 20,000 20,000
OQl8 sS4E TAIEE FHIA (=g
00l 4) 20,000
GAP s&tE ZEEl A2 A 197,600 239,700 A42,100
== 43,900
Al 153,700
307 212+01& 197,600 239,700 242,100
< 43,900
Al 163,700
02 2IZHBHAIHE £ 197,600 239,700 42,100
OGPz it EHIHHl K2 AHE 197,600
= 43,900
Al 153,700
GAP Ol 2 IMAH =AY 17,280 21,000 23,720
=S 3,840
Al 13,440
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307 lztol & 17,280 21,000 A3,720
= 3,840
Al 13,440
02 2IZHBYAIHE X 17,280 21,000 A3,720
OGPOIE 2] AEHMA XA 17,280
= 3,840
Al 13,440
LHESSILHM SEXJ(KXIEH) 135,000 765,000 A630,000
= 75,000
= 18,000
Al 42,000
307 @20l & 27,000 18,900 8,100
= 15,000
= 3,600
Al 8,400
02 2IZHBYAIHE & 27,000 18,900 8,100
OeX==sdIN SR
30,000, 000%90% 27,000
= 15,000
= 3,600
Al 8,400
402 2IZtA=01d 108,000 746,100 638,100
= 60,000
= 14,400
Al 33,600
02 QI X2 AL EE(OIETHE) 108,000 746,100 638,100
OgXN==SdIM SR
120,000,000& * 90% 108,000
= 60,000
S 14,400
Al 33,600
stte SSHEH XA (XA 50,000 50,000
307 el2to| & 50,000 50,000
02 2IZHBYAIHE £ 50,000 50,000
Ostt2 ESHEH| NFAI
100,000, 0002 * 141 %50f% 50,000
s4E HIHEE XA (XHH) 50,000 50,000 0
307 212+01& 50,000 50,000
02 LB HAHEE 50,000 50,000
OsttEs HUES X2 A
100,000, 000& *50% 50,000
sHIFHY 100,000 0 100,000
308 AXIHSOIA 100,000 100,000
07 HXHH2LRES 100,000 100,000
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|| Omei=c saisd 2813 983 100,000
SSME +5 172,000 309,33 A137,333
= 30,000
Al 142,000
SESTN 72,000 76,000 £4,000
307 212¢01 ™ 72,000 76,000 A4,000
VRIEEPONTEES 72,000 76,000 4,000
OsSag +SAE W=
6,000,008 x4 Z 2 <33 72,000
SSHELEN S 100,000 233,333 A133,333
= 30,000
Al 70,000
307 212¢01 M 100,000 233,333 A133,333
= 30,000
A 70,000
RIEE POV EES 100,000 233,33 A133,33
Osdg +EHAES |4 X8
20,000,000 5% = 100,000
= 30,000
Al 70,000
slEsss 1,242,367 2,240,205 £997,838
EEEESEE 1,106,591 1,004,813 101,778
101 Q1HH| 33,963 346.4%3 10,530
BIEEEINEERS 335,963 346,493 10,530
Osl=@e] It eli| 142,124
ol=s 78,8802 <1832 +62 8.611
9 224y 118, 32021130 262 21,29
Raggse 78,8021 x392 624 18,458
L 137,016,000 x11.5% 16,757
OSSABNPEL R Mo W ALY 012
bl 147,760
SEHENT 22
78,880 211824102 x43] 25,242
SSEI0NT 22
78,8802 821102 x43] 25,242
TYMSBATIT 22l
78,8802 x2424» 10233 56,794
Ary K7 22
78,8802+ 102482 x43] 25,202
S 132,520,000 x11.5% 16,240
OBl ZBNPEL 013, MEAL 0121y 26,359
SlEMENT 2l
161, 900282 <62 7,772
SSEI0IKT 22
161,90021 48246 7,772
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N REEE
161,900& x5 +5 4,048
ALy FEX7 22l
161,9003 x5&+5& 4,048
AHES 23,640,000 *11.5% 2,719
Osl28e| =Y FARE 22y
78,8802 x10H « 15! 11,832
OdlEdc| SSstad ael 22|
78,8803 x2& 50! 7,888
201 et 3| 318,423 313,120 5,303
01 At22t2l] 58,700 62,300 23,600
Ool2gd2X 7 & SUSHI 7 Z2Ed
Eislk=by; 1,000,000 52| *204 A 10,000
OB=ZBIT L BUSINT SBEL
el 500,000 «10& +20H 2 10,000
OslZge 28 ARY 2% 857
600,0002+55 3,000
Oocl=ge| S¢ cl2x & JtE20 M
300 %13, 3330H 4,000
OslEge BY AFR F4E T2
600,000 *52 A 3,000
Osl=wel 2 22X Al
8,000&1x15& »503] 6,000
Oon=sE- g(s=de 3%2)
250,000%2H 500
Otz R (e S22)
100,000%2%H 200
Ost&d HIES & 435 7
2,000,000 *14] 2,000
OGN 433 2L (XAHH SSAY)
10,000& %2,000& 20,000
2 s5=4g4l 259,723 250,820 8,903
Osi2d8e| 22| =2 5,000
Ool2de] AHANE RAHds+=
230, OOOOJ*ZJHAHZQ 5,520
Ool2¢e| NSANLEFX 22 B
850,000*12% 10,200
Odl=2de| dIes, Sties
7,500,000& 123 90,000
OdlE8ce| dot=k =
3,000,000& 122 36,000
OdlEgel 2SA4 ¥ FHISX
2,000,000 #55 10,000
Odl=de| IV =A==
420,000 1200 & 5,040
Odl=de g & 8K 7l
1,500,000 *3CH 4,500
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= e =Rl goe =g (CH9: &S1)
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O&JIete el =5
800,000 * 12 9,600
OdEsa&ELot2 2| A2l
230,000 «2CH* 122 5,520
Ool=de| Eulotat, =22 24Kl AlA
5,000,000% 1904 5,000
Osloge| QLA ML Jigl
7,000,000& *12] 7,000
Osl2¢c] SHOIA =Al2el 84 5,000
Oslgzd a2+ s:% Hedx 78
1,650& *60L* 1502 x2S 29,700
Osi=gel Bels HYS 7Y
1,650& *120L+ 150! 29,700
Osl=gel olHEe R P
1,61984%1,200L 1,943
202 04| 2,000 2,000
01 =LHOHI 2,000 2,000
OdlE4tY & sl=8e| &43tE gt B
ot 50,000 x4 x102] 2,000
206 M=l 97,200 97,200
01 MHZH| 97,200 97,200
O3Sl 9 SASHXT 25F L BN
-8 7,500,000 +22] +20H 2= 30,000
Oodl2de xatw dsacl Mg 2
3,000,000& %52 15,000
Ool2¢e| & Sa=saI7 S8 Y 2L
3,000,000 32 *2JH A= 18,000
Osi=Eel ¥ SASINT PHEH 7
3,000 %1,600 £ x20H A 9,600
OBi2Eel U SASIXT HE 7
7,000 %1, 2002 %204 2 16,800
Osi=Zgel S S W2 7Y
20,0002 25542 2,000
Osl2ge] o= + 3,000&*1,600 4,800
Osiege| Jdaxd HAEH 7Y 1,000
401 Al HIZ R 0HHI 363,005 246,000 107,005
01 AlZ28| 361,511 244,121 107,390
O ZESH A2
14,000,000 *98.92% 13,849
Odl=de| sl
14,000,000 *98.92% 13,849
OSEELot RA2e
10,500,000 *98.92% 10,387
OZels & otEa |A2e|
14,000,000 98.92% 13,849
O=xtd & FUAIE A2
10,500,000 *98.92% 10,387
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Osi2ge| 32X+ &4
90,000,000& %99. 1% 89,190
OsiEge| |AA0IE &AM (RI1Y HE) 200,000
03 AlZ = THHI 1,494 1,879 A385
OXtdassd 7l
14,000,000 *1.08% 152
Odl=de| sl 14,000,000 *1.08% 152
O=g&uot2 FAl2c
10,500, 0002 *1.08% 114
OZecls & a&d |2
14,000,000 *1.08% 152
OZXY U 2OAE S22
10,500,000 *1.08% 114
Osl=we FRXT £4
90,000, 0002 *0. % 810
AHE ZHOIHE OHAE 135,776 135,392 384
101 21AH| 15,776 15,392 384
04 JIZtN2Z2 XS E 16,776 15,392 384
Odledc| 2 %%éi}(gﬂﬂ) A& Ql24H]
78,8802 x5 * 102 432 16,776
201 er23| 120,000 120,000
03 Ar=EHI 120,000 120,000
OAHAIZ =Ml OIHIE OHHIE
30,000, 000& *43] 120,000
HEedsgsy 5,730,293 7,215,437 A 1,485,144
= 588,713
Jl 128,460
== 465,584
Al 4,547,536
ctdsHE= 128,460 130,000 1,540
7l 128,460
301 EtE2 NS 128,460 130,000 1,540
Jl 128,460
14 JIEt2d=3 128,460 130,000 1,540
Ozletd=g A=3 KA 128,460
Jl 128,460
SIZHIS XS (M EAY) 2,919,252 2,512,119 407,133
307 glztol & 2,919,252 0 2,919,252
02 LB HAHE L 2,919,252 0 2,919,252
ORJIEHIE KZ A (HEH) 2,514,252
ORIIZEHIZ XAS(ABIFIHE) 405,000
ELMSHXIZ (LX) 844,381 827,918 16,463
= 557,293
= 143,544
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Al 143,544
307 gl2tol & 844,381 0 844,381
= 557,293
= 143,544
Al 143,544
02 2IZHBYAIHE X 844,381 0 844,381
OE2MEM NS (SHS #HE) 844,381
= 557,293
& 143,544
Al 143,544
ZIE B SR (XA 402,000 865,000 A463,000
307 el2tol & 72,000 30,000 42,000
02 2B YAIHE A 72,000 30,000 42,000
Ozlgzdd 2x= SH-048l XIAA(1,300
21%46,0002+0H+50%) 30,000
OXc|0lIg el & it 3 45d A5t
K3 42,000
402 QI”F X201 & 330,000 835,000 505,000
01 QI X2 AL E X (KEMITHE) 330,000 835,000 /505,000
OzletZ3=sg S X2 A
2,000, 000:& *200ha*50% 200,000
OFHISE &5 MM A&
40,000 £ *4,000& *50% 80,000
O (EsIHSIIA XNJALY
5,000,000 *20CH*50% 50,000
B =HEESHER) 204,104 200,140 3,964
= 61,240
Al 142,864
201 eer23| 1,216 1,216 0
= 364
Al 852
02 S3=gHl 1,216 1,216 0
Orletd RIlsd |54 AEAE 1,216
== 364
Al 852
202 04l 1,254 1,434 A180
= 376
Al 878
01 =LHAHI 1,254 1,434 A180
Ozletd R)lse 54 KA 1,2%4
= 376
Al 878
301 Eet2 NS 201,634 197,490 4,144
== 60,500
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Al 141,134
14 0Bt 243 201,634 197,490 4,144
OzlgdsitE 2ISHIE NE A 88,300
s 26,500
Al 61,800
Ozletd RJlsg |4 KA 113,334
& 34,000
Al 79,334
B sAERS(EX) 170,330 211,200 40,870
= 51,100
Al 119,230
307 @20l & 170,330 211,200 240,870
=S 51,100
Al 119,230
02 QBN ER 170,330 211,200 A40,870
Ozletd3sdte KS4H| 0IE K& 170,330
[ 51,100
Al 119,230
6P oHE Y EAXIA(EX) 50,000 51,090 21,090
= 25,000
< 7,500
Al 17,500
201 2egh=3| 10,000 11,090 21,090
= 5,000
=S 1,500
Al 3,500
01 AtR2te|Hl 10,000 11,090 21,090
OGP E/8 HAY 24X 10,000
= 5,000
= 1,500
Al 3,500
301 EtE NS 40,000 40,000 0
= 20,000
= 6,000
Al 14,000
14 0Bt 243 40,000 40,000 0
OGP QIS=JH HEE SAHH X2 A 40,000
= 20,000
= 6,000
Al 14,000
=2 ESH(XHA) 17,250 17,250 0
201 ger=3| 8,400 8,400
01 AtR2te|H] 8,400 8,400
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01 =LHO4b| 2,850 2,850
Oretd=sy 92Fd oEl(HAs S) 2,850
301 LB F 3,000 3,000
11 SHAIAHIXI &2 3,000 3,000
OXEA=Y(SY) DSEA
30,0003 *23]*50H 3,000
307 2I2+01 A 3,000 3,000
12 212t Et i = H| 3,000 3,000
OFEA RIIsY Hews
100,000 15 23| 3,000
ISR (BEX) 16,050 16,050 0
= 6,420
Al 9,630
402 QI+ Xt=01H 16,050 16,050 0
= 6,420
Al 9,630
02 QIZIXEAMEEE(OIXTHS) 16,050 16,050 0
ORIN=DRM KIJAAS 16,050
= 6,420
Al 9,630
ZEtd=sg AFIIB RIEHZ XH 600,000 600,000
301 LPENSZ 600,000 600,000
14 J|EtE A3 600,000 600,000
Orstd=g AdI|Et RIEHZ XA
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= 8,108
Al 18,918
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= 8,108
Al 18,918
02 QIZEXHEAIZ 2 (01 THE) 27,026 41,520 A14,494
Ostddste =X X& 27,026
& 8,108
Al 18,918
GAP AAHH| X 14,000 9,000 5,000
& 7,000
Al 7,000
301 LEtENZ 14,000 9,000 5,000
= 7,000
Al 7,000
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